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(ii)In a series L-R circuit, L= 35mH and R= 11Ω, V=V0 sinωt OF Vrms = 220V and 50 Hz frequency are 

applied. Find the current amplitude in the circuit and phase of current with respect to voltage. Draw a 

graph of resistance versus frequency. 

26. When a parallel beam of monochromatic source of light of wavelength 𝜆𝑖𝑠 incident on a single slit of 

width a, show how the diffraction pattern is formed at the screen by the interference of the wavelets from 

the slit. 

Show that, besides the central maximum θ= 0, secondary maxima are observed at θ = (𝑛 + 1/2)λ/a and 

the minima at θ = nλ/a. 

Why do secondary maxima get weaker in intensity with increasing n? 

Or 

(i) Draw a ray diagram showing the formation of image at a point on principal axis and on the convex side 

of a spherical surface of radius of curvature R. Taking the rays as incident from a rarer medium of 

refractive indexµ1 to a denser medium of refractive index µ2, derive the relation  

(ii) Explain how the focal length of a convex lens changes with increase in wavelength of incident light. 

(iii)What happens to the focal length of convex lens when it is immersed in water? 
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